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PRE SECONDARY SCHOLARSHIP EXAMINATION (STD. 8th), FEBRUARY 2024
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st | A
0/522 —
Paper No. 11 .

Time : 02:00 to 03:30 Medium : English = Q:IE:E

Total Marks : 150 ~ Third Language and Intelligence Test Pages : 16
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Read the following instructions carefully before you answer the questions.
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This question paper contains two sections. In Section I there are 1 to 25 questions of Third
Language and in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are
compulsory.

All questions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select and darken the correct answer in the answer sheet.

For Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows :
Question No. 6 - @ ‘ @ @

Maximum 20% questions are having two correct alternatives. Candidate has to darken both
the circles with correct answers. These questions will have the instruction ‘Select two correct
alternatives’.

For Example :- If the correct alternative for Q. No. 8 is 2 & 3, then record your answer as follows :

Question No. 8 - @ ‘ ‘ @

Answer recorded in any other form will not be considered. Such answer will be credited with

‘Zero’ mark. @ @@ @

Use blue or black ball pen to darken the circle. Circles darkened by pencil will not be credited.
Answer once recorded can not be changed.

The rough work is to be done in the space given under each page or on the last page of the
question paper.

The exam has limited time, in case you are not able to solve a question, kindly solve the next
question. In the end if time permits you can try to solve the unsolved questions.

If incomplete or wrong question found in a question paper, you are not permitted to ask the same
to Supervisor or Centre Incharge.

School or parents should not send written application to Block Education Officer or Education
Officer for any error, mistake or objection issues. These error / mistake / objection issues should
be registered online through respective school login only.

The error / mistake / objection issues should be registered online within 10 - days from the
publication of Interim answer key on MSCE website.

Suggestion and decision of expert committee will be applicable on printing or any other mistake
in question paper.
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YETdhl IV STERIT ITeEAT 3T 3TTeiet 3R ? (37 oA v faer.)
(1) BT Ushd IRG=IT Ueehd AT ToHLa.

(2) wHATT TEEHR qRETTaS TgH petelal STHdl.

(3) dEr aFade 9dT 9 .

(4) IHTAT Vaes HIS HgH 3R,

fectean Sdidiar 3R Sesad IR grom=n W@ | T3
1efqut revidicl ISfidiehgd WM™ 31&R HhIvid ? | w
1 = (2) @ BT L2l

k) = 4 = il
gy | @ | 2T |®

FIRGT HITHET ThR ST

feh THEEHTHTETE! 3 Afaeflt TevE A,

(1) YIugEy qaarm (2) AHATES HIAH
(3) i AW (4) TOEEY FEA™

eRRad e fom STesE:
“Barared! Fomel Fatl T e ae siee.’
(1)  Fg@ehietT (2) dfeer (3) wifen (4)  SvfeAT

FEICATIHR Fehral T et
(1) w&t- sl (2) S - dad (3) - (4) W[Wr-3

eIl HTHTETS! Wokd
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07. fedean ITe=T=n i 3TSET:
“f wsR ferecien anfurframeEt fisra %= And sea.
(1) o wfrsreme (2) ool SRS
3) 3Tyt whreres (4) Ofq aqaTws

08. g vIeg SredMT dow A=A AL YU Ufgeial W16 FRITAHT IV forrafeg aTatard ?
(1) @amta-g (2) IUHRTITE (3) Taeqferm (4)  Tquiferm

09.  giauehi fordt STeqTdicl SITEANT IR Q) AT SAATRISHIT Bil ?
(WS[e3, TN, YA, §U, U, T, Fed, THUI, TYS3)
(1) =1 (2) war 3) U= (4) =

10, gy et i g S e e T
() swgam Q) weEaE () dRTE (4 gww

1. et 9 = AR =31 S foen 31ed. <Idia gehiet Jet faer.
(1) veft S ferrau | STzt 3Tft = - | SHTeTS
(2) T Y TS Hig | HH B TR WY - A THEH
(3) iy wifEmen feaw | gt Sfaet Ham - a1 wERS
(4) <= G SR W | Behedl Tkl e ~ Fd SfRUTeTS

T 12 14 ATST GO -
TG IANT IS qaeh A= 9 ARG faeied Jerean ST A w3 Faer.
gAY SR 3T HETeha ™ ST T AT 3701 3em Bid. &g sIET BR Jis!
BIdT. Tdd e U1 81 I D Bidl. Wigae S8 9T shdl Bld a8 d 2 hicsiihR, HATHR,
qeshehlt, foamad, feer o TifidrEl gid. SMes=an sl 9r fdisTe o= 09 W™d Jegd.
Framia wigmy Sd Wa. B, $odter, uaft, Ie T I faceer ey, SiHiE, 9d, SR,
e, 3R ATy ferfastren oo | A Sr=farseht Whgen §u 39 gid.

eIl HTHTETS! Wokd
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gt e foieh Tesacdia TewmT Udelt g1, WieR ATaTE Wi d STeldd 3TEd.
ST Tehaet g “sfifehad’ IS, ITHIGHURI=AT <hgTd BT, T-TeH, THIGHNT, BTG, SHelThaie
HH I TR e fiw e dre. o Tarsiel A1 SeEge 9 S o ey
ANTA. T HISATAT Al ITAISeh T 3118, fsrdier Tvepr <t ‘e’ &1 fomdrer fean. wiganerr=an
AfFaTaTdicl TehedTal e SATIhR TEUISl e SO g Tiid. T WRATe o Tsiia 318,

12. ‘gAY e’ A=A "ewtd gehre faum faer.
(1) I Tidrrelt seads ffga . (2) T EH TBdcid HeHTT Uaa Bl
(3) T SEIVEA B TEdd WRAN TS 3R, (4) T SATET BR HIST Bl

13.  wfigamernt smifafehaqen Sigd #fifrehad Soead sRor . _

R

D]

0, &

TN
)

‘%
KhY

(1) TSI YR ST JTETS (2) ‘9iER’ TG HIfHS & HOATHTS

(3) T e SRy B TR (4) T A S i@ FRUE
14 Sqm=Tel STRITHR THIGHR haTd Hiord e firesd Jegd 7

(1) g M-dre= (2) THIGI § FIAHTT

(3) @k fareror (4) AP
15. ‘arﬁm’wmwaﬁwmﬁwﬁa@. (a%gﬁaqqa‘rqﬁa@.)

(1) 3R (2) 9w (3) Ym (4) g
16.  feciean sregm yoTdial VAT S6g TSI SIT6E TIR Bl T8l ?

Tom

(1) ft (2) IFSH (3) e (4) W
17.  ‘Geredia’ o1 wregra wepor fohdft ool armaa?

(1) sme (2) = 3) T (4) <&

18. gt shrort et foegeneff sregr=h gt ?
(1) MY X IR (2) I X ug (3) T X ordt (4) =gFan X fagerar

19.  gomrefl wregrh omme S faet:
(1) o Xl (2) fo@m—s@Eem (3) g X uims (4) 91 — 3G

20. feciedn YeqUYEEGEH U Ieg ST

(1) e (2) @ (3) e (4) Tdushey
HeSIT HTHTHTST Wekd
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21.  feciedn aTaITd STURRET heledT giral g TS TR I veg HaeT:

TN SRR A=A T4 o6 3 3T BId.

(1) 3 (2) @@ 3)
22.  qcIe! IV WeE MG 3T 7 (3T g WA fraer.)

(1) wH® (2) R 3)
9 23 25 ATST AT -

984 (4) =

kN (4)  HwTRES

Y& ehierdl shicssliqeeh =l o ATETel! fareielea Jear=a ST g fasr:

Y ITAe, MG SITaet
hichics for, Terell T ||

ISAT= IhTST WEG! d19e
Y 7 a1, I9qr e 1|

Iui UL, ST Had
AEd Xl foe smEed ||
|13 &L WG R

e gerret foawm gom ||

FHA g, TR R
e S, g o= |

e €], SR RIRR

RISCOREICARTSC I
o5 TeAqd, TTai3revii=n
T UTagTET, AT A |

23. ‘g kq @ gATHId e vt erEdi

(1) IguT g e 7. (2) ISt AT .

(3) <hichica TITOT T 3T, (4) F T e 3TEd.
24. Frehies AFCH hegl M ANl ?

(1) STRIITG UY SHEATER. (2) et g SEeETeR.

(3) uEE e e, (4) T e YSeTaR.
25. wfqadier SreETER gt S e

(1) TR - o= wem (2) UrH - IHTET

(3) aui - HAdER (4) BHd - =T SR

HEHT HIHTATS! ek
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SECTION - II

0, <

0.8

INTELLIGENCE TEST

26. In the given table, in a code language symbols are used for the numbers. Observe
and find the symbols which will replace the question mark.

Numbers 0 1 2 3 4 5 6 7 8 9
Symbols /] O |V N O | A 0O % | A| @

From the given (’+A—ﬁ?)v + (A)v+|:|—ﬁ? = 7
(1 O 2 © 3) A 4 U

Q. 27 and Q. 28 Direction :
In a certain code language, figures are replacing letters.

Ly
0
&2

K

0
K

e

v
S

9 <

X

GO0

27.  AIR word is written as ACJ@, RAN word is written as @AM, TRY word is
written as @‘7&7 then how is the word TAN is written in this code language?

(1) *eO 2 O@O 3) 6ANR 4 AGH

28. From the given code figures which symbols can form meaningful words.
(Select 2 correct options.)

1) AEO Q) @AK 3) *AD @) OL¥

29. John was standing on a ground facing south direction. He started walking straight
in the same direction and walked 29 metres. Then he turned to his right at right
angle and walked straight for 17 metres. Again he turned to his right at right angle
and walked 8 metres, in the end he turned to his left in right angle and walked 11
metres. At what minimum distance is he from his original place?

(1) 36 m. (2) 34 m. 3) 35 m. 4) 37 m.

30. Sachin and Rahul participated in the running competition. Sachin said,
“My place in the line is 19t and ahead to me Rahul is at 4 place.” Rahul
said, “I am 9™ from last.” From the given options find the correct statement.
(Select 2 correct alternatives.)

(1) 24 Participants are there in the competition.
(2) Sachin is 5% from the last.

(3) Rahul’s place is 16" in the line.

(4) Middle Participant’s place is 12th,

SPACE FOR ROUGH WORK
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31. If in the year 2022 ‘Balika Divas’ falls on Monday, then in the same year ‘Kranti Day’
will be on which day?

(1) Monday (2) Tuesday (3) Sunday (4) Saturday

Q. 32 and Q. 33 Direction :

In the given venn diagram, number of travellers of a city is given. Observe the
diagram and answer the questions given below.

58

Q2
D

oK

27
Q
oY

K

Aeroplane Travellers — 17

/”‘ Bus Travellers
9
> 11 | o7

\21

32. How many travellers who travel by aeroplane are also travelling by bus ?
(1) 13 2) 4 (3) 18 4 19

v
D

N
K

Railway Travellers

33. How many travellers are travelling by railway and not by aeroplane?
(1) 21 2) 37 3) 32 (4) 46

34, If9 x 17 =49, 13 x 31 = 100, 12 x 18 = 81 then find 14 x 4 = ?
(1) 81 (2) 64 (3) 121 4) 100

Q. 35 to Q. 39 Direction :
There exists a certain relationship between 15t and 279 term.

The same relationship exists between the 3™ and 4™ term. Considering this select the
alternative to replace the question mark.

35. Malgudi Days : R.K. Narayan :: Broken Wings : ?
(1) APJ Abdul Kalam (2) Arundhati Roy
(3) Sarojini Naidu (4) Vikram Seth

SPACE FOR ROUGH WORK
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% 36.  National Voters Day : 25" January :: Constitution Day : ?
Ezé:g (1) 26™ November (2) 25™ December
g (3) 30t January (4) 26M January
E:é:i 37.  Question Figures:
< S +
5 08 |1k - ‘ Sl ?
56 Y
S * -
Answer Figures:
- + . X%
s ARESE Al +
; : N \a
6] 2) 3) 4)
38. 963 : 144 :: 842 : ? (Select 2 correct alternatives.)
(1) 64 2) 78 3) 112 4) 50
39. LOH : PMT :: ITJ : ?
(1) RSH (2) SHR (3) SIR SHT
40. Find the mirror image of the question figure from the given options.

Question Figures:

AR

Answer Figures:

.

Q)

el

Cof

%jg

(M ) 3) 4)
SPACE FOR ROUGH WORK
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Q. 41 and Q. 42 Direction : g
Find the water image of the question figure from the given options. Eé:i
ok
0:0’
41. Question Figures: Answer Figures: ','315
g
U ) [2 :
SReIENd eI
s

(1) 2) 3) 4)

42.  Question Figure: Answer Figures:

@‘3 Q% @@ @*3 D@

(1) 2) 3) (4)

Q. 43 to Q. 45 Direction :

Observe the following pyramid. Study the arrangement of numbers and find the correct
alternative to replace the question mark.

13
41 52
11 26 29
48 50 14 18
31 27 49 33 15
21 58 34 28 36 16
17 20 24 30 35 32 19
25 10 37 43 23 39 56 60

SPACE FOR ROUGH WORK
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>

43. 50485827 : 14183633 :: 26112750 : 2
(1) 29264914 (2) 26293349 (3) 26293314 (4) 26294933

05800

44. 31175834 : 15193628 :: 21252024 : ? (Select 2 correct alternatives.)
(1) 36563530 (2) 16603235 (3) 16603236 (4) 36563528

0
3

K

e

0
S

K

‘i’
mA

45. 41503448 : 52142818 :: ? : 29333515
(1) 11272431 (2) 11272449 (3) 11272458 (4) 11272434

GO0

46.  The ratio of the ages of Sameer, Raghav and Aamir today is 7 : 5 : 3. Sameer is
older than Aamir by 12 years, then what is the present age of Raghav ?

(1) 12 yrs. (2) 21 yrs. 3) 9 yrs. (4) 15 yrs.

47. Below given four cubes are showing the different faces of the same cube. There are
numbers from 1 to 6 written on its surfaces. Find the incorrect pair of numbers on
the adjacent faces.

6 4 1 3

(1) 2 and 4 2) 6 and 1 (3) 2 and 5 4) 5 and 3

48. Two statements and two inferences are given below. Read them and select the correct
alternative. (Select 2 correct alternatives.)

Statements: 1) All pens are copies.
2) Few books are pens.
Inferences: A) Few books are copies.
B) Few copies are not books.
(1) A is incorrect (2) B is correct
(3) A is correct (4) B is incorrect

SPACE FOR ROUGH WORK
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2
D

Choose the correct option to replace the questlon mark.

CALALALUA

(1) 225 251

e

58

RO

2
D

‘i’
/7 T\

50. Find the number to replace the question
mark after identifying the rule in number 3/27 3/8 5

arrangement. (Select 2 correct alternatives.)
V125 | Y64 | 9

V1331 | 3/512 ?

(1) 56 2) 19 (3) 18 4) 57

v
D

) €

R

51. How many triangles are there
in the given figure ?
(1) 26
2) 25
3) 16
4) 20

Q. 52 to Q. 56 Direction :

In the given series find the correct term to replace the question mark.

52. 43, 31, 28, 12, 10, ?
(1) 10 2 9 3) 8 4 7

SPACE FOR ROUGH WORK
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53.  Question Figures :
m - O |
g A O ‘?

U U

Ly
0
&2

X

‘i’
A

0
K%

N

L]
®
>
[ ]

Answer Figures :

|
o | & O o om ©
@) O A A
M) @ 3) @

0

>
0
O

5

(0

54. AAOO , DACA , «AANOO
() OOAA (2 HOOAAs (3 HOOAA 4 OAlAs

5S. 1, 7, 34, 137, 410, 821, ?
(1) 1641 (2) 820 (3) 1230 (4) 1440

56. XBW, RGQ, LLK, ?

(1) FQD (2) ESF (3) FQE 4) GQE
57. From the given options pick the wrong term out.

125, 115, 103, 89, 74, 59, 40

(1) 103 2) 59 (3) 40 4) 74
S8. 1,85 9,458,529, 1,5 1,5289,5,4

In the given number series, how many times preceding 5 square numbers and succeeding
5 cube numbers have occured?

(1) 4 times (2) 2 times (3) 5 times (4) 3 times

SPACE FOR ROUGH WORK
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59.

60.

61.

62.

Form a meaningful idiom from the letters
given in the figure and find its meaning T | L
from the given options. C

(1) Very rarely (2) Becoming nervous

O
(3) Feeling ill (4) An easy task

E |D

If the given alphabet series is written by reversing the order of letters, eighth letter
to the left of the middle letter will be at what place from left side?

(1) 218 (2) 20t (3) 5t 4) oth

In the word ‘INCOMPREHENSIBILITIES’, how many times the letter ‘I’ has occured?
D 5 (2) 6 (3 4 4 7

From the given alphabet series, from each group only 18t 3 and 5% letters are
written and a new series is formed, then in that series which pair of letters will
occur at the same distance from the letter P.

(1) W 2) MW (3) FY 4) HW

Q. 63 to Q. 65 Direction :

63.

64.

65.

In the following rhythmic series which set will replace the question mark. Observe
the pattern and choose the correct alternatives.

2LY2LLL?2ZL2LYZ?2LL
() LLZYL (@) LLYZL (@3) LZLYL (4 LZYLL

678285824523422321
(1) 7543 2) 3457 (3) 7453 4 4573

OA¥O+¥OAO0+AO kOO A+
(H) + 0O 2 O + ¥ 3 O+ O 4 kOO

Q. 66 to Q. 70 Direction :

66.

From the given options pick the odd term out.

(1) Agartala (2) Aizwal (3) Imphal (4) Sikkim

SPACE FOR ROUGH WORK
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67.
® X + +
O A O A
+ A ® - O O A X O o ®
O + o X
(M (2) 3) 4
68. (1) 100 (2) 252 (3) 392 4) 576
69. 5 6 7 8
1) 15 @ 21 ®) 28 @ 30
70. (1) CWF (2) DVI (3) FTL (4) GSN
71.  Find the correct option to complete the question figure.

Question Figure:

[

(1)

Q. 72 and Q. 73 Direction :

Find exactly the same figure that matches with the question figure from the options.

72.

Question Figure:

Answer Figures:

[

2)

[

3)

Answer Figures:

[

4)

o

1%

X

5

X

o

7

X

o

1%

<

a3

o

X

(1) (2) 3) “)
SPACE FOR ROUGH WORK
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73.  Question Figure: Answer Figures:
[ ] [ 1 [ 1 [ ] [

0
K

K

K

0
K

|
|

|
|

K

5

"
K

0
&

K

) 2) (3) @)

74.  In the given question figure, a paper after folding is cut as shaded part shown. How

R

will it look from the given answer figures after unfolding?

Question Figure: Answer Figures:

] A | A H N
>4 PO INON} M
[ vV Vv H N

(M ) 3) 4)
75.  From the alternatives, find the figure which is hidden in the question figure.

Question Figure: Answer Figures:

(1) (2) 3) (4)

SPACE FOR ROUGH WORK
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